(I eliminated the questions about topics not presented this year).

In the following three questions, consider a Kaleckian closed economy model without government, without fixed incomes and with three sectors that produced basic consumption goods, luxury consumption goods and investment goods. Workers spend all they earn whereas capitalists’ expenditures are pre-determined.

1. In this model, profits of the basic goods sector are necessarily equal to the sum of the wages of the other two sectors.

2.In the same model, capitalists’ expenditure determine in an indirect way the profits of the sectors that produce luxury consumption goods and investment goods.

3. In the same model, a 50% decline in capitalists’ expenditures lead to a 50% decline in the total wage income of the sectors that produce luxury consumption goods and investment goods – and an equal percent decline in the total wage income of the basic consumption goods sectors.
4. GDP can grow only if aggregate demand grows.
5. Consider a Kaleckian closed economy model without government and without fixed incomes. The marginal propensities to consume out of wages and out of profits are equal to 1 and 0.4 (respectively), and the mark-up (θ) is equal to 0.5. In this model, the Kaleckian multiplier is equal to 5.
6. Consider a Kaleckian open economy model without government, and without fixed incomes. Workers spend all they earn whereas capitalists’ expenditures are pre-determined.  In this model, an increase in the mark-up (θ) leads to an increase in total profits.
7.Consider a Kaleckian closed economy model without government, and without fixed incomes. Workers spend all they earn whereas capitalists’ expenditures are pre-determined. In this model, an increase in the mark-up (θ) leads to higher unit margins but to a lower volume of aggregate sales. Hence, we cannot say whether total profits will stay constant or not.
9. Consider the Kaleckian model with fixed incomes. In this model, the profit share rises during expansions at the expense of the shares in aggregate income of both variable wages and fixed incomes.

10. Consider the Kaleckian model with fixed costs. In this model, the purpose of the mark-up (θ) is to account both for the normal rate of profit and for the fixed costs.

11. Consider the Kaleckian model with fixed incomes. In this model, the marginal productivity of labour is constant but the average productivity of labour changes with the level of output.
12. Consider the Kaleckian model with fixed costs, a marginal propensity to consume out of wages equal to one, investment pre-determined by past decisions and a positive marginal propensity to consume out of profits. In this model, when a firms hires an extra worker aggregate supply rises by more than aggregate demand. The difference between the two increases is equal to the value of the worker’s productivity minus the value of his wage.

13. Consider the Kaleckian model with fixed costs and the usual assumptions about the marginal propensities to consume out of wages and out of profits. The further model’s assumption that investment in each period is pre-determined by past decisions necessarily implies that an increase in aggregate supply does not lead to an increase in aggregate demand of an equal value.

14. Consider the Kaleckian model with fixed costs, the usual assumptions about the marginal propensities to consume out of wages and out of profits, and with rigidity in both nominal wages and prices. In this model, whenever aggregate supply does not coincide with aggregate demand market mechanisms eventually bring them to equality with one another.

15.Consider the Kaleckian model with fixed costs, the usual assumptions about the marginal propensities to consume out of wages and out of profits, and with flexible prices and rigid nominal wages. In this model, a state of unemployment may be eventually solved by the operation of market mechanisms.
16.The higher is the debt/equity of a company, the higher is the return on equity relative to the return on assets.
17.According to Minsky, acceptable debt-to-equity ratios are subjective and are a major determinant of changes in investment – in both expansions and recessions.

18. Consider two firms which differ only in the way they financed the acquisition of their capital stock. One firm purchased its entire capital stock with equity whereas the other bought half of it with debt. We can say that a 1 percentage point (p.p.) change in the rate of return on the invested capital leads to a 1 p.p. and to a ½ p.p. change in the return on equity of the first and of the second firms, respectively.

19.Suppose that the return on a firm’s capital stock is always 10 percentage points higher than the interest rate of its loans. The initial value of the firm’s capital stock is 200€. If the firm obtains a further loan of 100€ and uses it to expand its capital stock, the return on its equity will rise by 5 percentage points.

20.According to Minsky, at the peak of economic expansions firms are vulnerable – even though their financial structures at those times offer some protection against a decline in their production cash-flows.

21. According to Minsky, at the peak of economic expansions profit rates of most firms are enhanced by their financial structures at those times.
22. Assume that the economy is always at full-employment and that there is no capital depreciation. Ceteris paribus, a 50% decline in the productivity of capital halves the proportion of investment goods’ output in aggregate output. As a result, the growth rate of the capital stock is halved as well.
23. Assume that the economy is always at full-employment. Ceteris paribus, a decline in the savings rate from 20% to 10% halves the output of investment goods.

24. Assume the economy is always at full-employment. Ceteris paribus, a duplication of the productivity of capital accompanied by a reduction of the savings rate by half has no effect on the output of investment goods.
31.With a Keynesian multiplier lower than the productivity of capital, an increase in investment from the reposition level raises aggregate demand by more than aggregate capacity. 
32. Initially, investment in the taxi industry is at the reposition level and the utilization is at the desired level. If afterwards the demand for taxis and the utilization rise and taxi firms respond by increasing investment, then the rate of utilization in the taxi industry will paradoxically rise.

39. Bear in mind the behavior of the share of profits in total income along economic expansions. If the capital-(full capacity output) ratio were constant along an expansion, then a doubling of the rate of utilization would double the profit rate.

40. If initially the utilization is at the desired level and investment is at the reposition level, an increase in utilization tends to lead to mutually causing increases in investment and in utilization over several periods - until the economy eventually reaches full-employment. 
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